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lJ = 4x,and

If f:R\{0} - R is such that 2 (x)+ f
X

S= {x eR:f(x)=f( —x]} , then the number of elements in S is

S={xeR:f(x)=f (=)} ﬂﬂf(}f)ﬁf(ﬂzﬁlx,fiab MERO SRS

c;_ﬂﬁzi/w:s.,ﬁ

Options :
0

1. %
1

2. %
2

3.¢

at least three

Gl

4.
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Options :

1. %
5]
_,g:,
2

2. %

(-L.1)

3. %

IR

4, %
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~ [ 22n+] In+l ;. qioo-
For all natural numbers n, 3 [S ! )-+2 " 1s divisible by

_.;:'_.t’ﬁﬂ:v 243 (SLHI ) 4 4£f?ur/.'}u[xf_, L'l‘"[}

Options :
559
1. %
17
2. ¥
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Question Number : 4 Question Id : 3426041284 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A and B are two 3*3 non-singular matrices such that adj A Z‘A‘B. If w(X) denotes

[4 4 7
! . | e N
the trace of a square matrix Xand C=|{ 3 -2 5| then, Zn| ¥(AB)A Cl=
‘ [ERRe )

-2 3 6

(HLX A Lt ki) S adi A=|AIB. ST AUt AnFgid 3uBaiA

i ‘ 4 4 7|
Yir ﬁAB)"C\:_;C: 3 -2 5|
B 5 " 6

Options :

12
1. %

4
2.

81
3. %

co (infinite)

0 (::..&'/,:;)
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Let A=| 0

IfAand [A : B] have same rank, then

=

- sUSE[A B]#A S A=

Options :

2a+b+c=0

bh+c¢
=
2
2
a+c
=
2
3, %
a+b
{‘:
4, % -

1 4
0 3
-2 5

:

_5_.

-9

o 8 g

JJ/
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Correct Marks : 1 Wrong Marks : 0

l | [ 5]

[n matrix notation, if the system of equations | -1 [1 -1 2]" v|=/-5| has mfinte

2 lz| |10
number of solutions, then all these solutions lie on
vl x| [5]
et Ao L L -1 1) || 5| pkembe AL A
2 z| |10

g
Options:

a line on XY plane

WUXYEBL

a plane not parallel to any of the coordinate planes

Lot ed f 5 e 62l o

the YZ plane
5 YZ

the ZX plane

£ 7x
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If Z=x+iyis a complex number and y/x* ~2x+8+(x+4)i= p(2+i), then Z =

L=y’ =20 +8 +(x+4)i = y(2+i) ;sl{_mu‘qfﬁg Z= _1'+f_1’/7l

Options :
—28 16
e
3 3
1. #
—2+2i
2.
2 2,
e
3 3
3. %
-2 2
3 3
4, %
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71 15 a positive nfeger and not a multiple of 3. If @ 15 non real cube root of unity, then

2
0+ =

o' +0™ = n....-;"‘s:_.J.;? VJJJ JUL‘J Jﬂ r..-le,:f_u“.?L /’Jy ..{{K 31;1:"./?‘ lla;ib{ln

Options:
-1
1.9
.
)
2. %
s
—
3. %
1
4, #
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If n 1s a positive integer, then (1 +.r,')n +(1 —f)n =—, then » will be of the form
..fﬂﬁh,ﬁul Nt (l H']" +(l—i]n =- gu;_;m}.{mﬁ
Options :

4k -3,k eN



4k 1,k e N
4k -2,k e N

4k .k e N
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Suppose ¢ is minimum value of x° +hx+5 and £ is maximum value of —x* +av+5.

If [(x,/f] is the inferval of maximum length for v in which x*~10x+24<0, then

2

2
ah =

Ll.....f[{}f, /J’} @Zx/j,‘;;ﬁ@l i J X +f;_r+5.;3lf_;)3ﬁ J] o b( ¥ +hr+5y A Lf/'
OB = et 105+ U0, ool
Options:

25

16

2. %

3. %

4. %
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If the minimum value of the quadratic expression x* + 5x—21s M and it exists at  then
M
a

M winf s T
— =.,Fm:?ff“amllvlf.;ﬂ/{ L,( ¥ —3.1"—21%.@)1 M
a : :

Options :
3.3
1.+
33
5
2. %
23
3. %
—0.25
4. ®
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If 3,y are the roots of x* —3x* ~4x+12=0 then ) (o +p ) =

Y (a+B) = Ao L ¥~ 3 —4x+12=0 a,B,7./]

Options:

10
1. %

—10
2. %

20
3.

—26
4. ®
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Correct Marks : 1 Wrong Marks : 0

Let ¢, B,y (o< f<y) beroots of ar’ +bx’ +cx+d =0 and w, v, w (u<v<w) be

roots of ak’x’ +bk*x* +ck+d =0.If f* =ay. then
ak’x’ +bk*x* +che+d = (J"LJJP(O.’C B<y)a,p, yLad +he +evtd = "/
i f=ay ﬁuj.dyu, bW (U <v<w) L

Options :

1. ®



2vw

V=
H+wW
2v=u+w

2. %

2
Vo =uw

3. ¥
v© =2uw

4. 4

Question Number : 14 Question Id : 3426041294 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Seven scientists S, S,,....5, are mvited to deliver one lecture each in a conference. The
number of ways all the seven lectures can be arranged such that the lecture of §, 1s prior

to that of §, and the lecture of §, is prior to that of S 15
Fertic )& o f i 1l L0488, 80Pl b 4
ke S S nde S, S S bt

Options :
33
1. %
340



Question Number : 15 Question Id : 3426041295 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

15 gitls are seated at a round table. The number of ways of selectig three girls such
that all the three are not seated together 1s

WA B e Pl e 3 P E s (U
Options:

450

440
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(e LT
If the coefficient of x” in the binomial expansion of x° ' W3 +A—] 15 880, then k=
\ 7

-

12
b 880K LA yﬁ(zﬁﬁﬂ Ji
,1.

Options :

1. %

43
2_%’-5

23
3_%’-5
4, -\/g
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| | . 57
The middle term 1n the expansion of (413 _411_) 1S
\ X,
§ l-T.I 5 P
oA ( 4x° ——”j YL
‘ 4x
Options :
70(15x)°



1820 x°

2. %

70(15x%)*
3.

2560 x*
4, %
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Correct Marks : 1 Wrong Marks : 0

If 5|h| < 2|f:|, then the 4™ term in the expansion of (2a +5h) " is

*

LLJLW (2a+5b)™ u/ylﬁ'f:?:u,i‘5|!;n| o 2|a|,jf

Options :
R e
G & I
- G573
"2 a
2. %
GC,5454
-t



4(.'3 2N ar B
4, %
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Correct Marks : 1 Wrong Marks : 0

oy e - 3x+1 :
The partial fraction decomposition of : 1S

(x=1)" (x+2)

e —
: " (x=1)"(x+2)

Options :
4 | 5 1 . I
e e ———
3(_1--_1)" 9(1‘—1) O x+2
1. %
=50 1 1 2
+— —+
‘-)LJ:JrZJ 3 (x—1) x—1
2. %
=5 1 7 5 4 4 1
J+_. _|__+ =
O\ x4+2] 9 =1 3 (x—1)°
3.9



—5( i 5( TR 2
L x42) 9lx-1} (.*r—l]j
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sin 20°s1in40°sin 60°sin 80° =

Options :
-3
16
1. #
5
_ 16
3
;o 16
-
16
4, %
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2 4 61 IF 4
CO0S — +COS

+CO5—+C05— —

Options :
|
2
1. %
1
2. %
—1
3. % 2
—3
2
4. ¢ =

Question Number : 22 Question Id : 3426041302 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. . . .?T
If A 1s not an integral multiple of = then cosec 2A + cot 2A =

—

. Z. T £
cosec 2A +cot 2A = .,J‘:uf.,ﬁfbdﬁu:f ?,/lA

e

Options :

tan A



cot A +2cot 2A

tan A + 2cot 2A

tan 2ZA
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Correct Marks : 1 Wrong Marks : 0

oF wdE W3 L T JOF WP L8
cos* =+cos* —+cos* —+cos’ —+cos* —+cos* — + cos* —+cos* — =
8 § 8 8 8 8

Options :

|

3
1. ¢

il |
2. %

1
3. %

4
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The number of solutions of the equation cos6x+cosdx+cos2x=-1 m [0,7] 15

[0, 7] J A oo s B < ]

Options :

4
1. %

-

3
2. %

6
3. %

3
4.+
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Correct Marks : 1 Wrong Marks : 0

28in™ v+ Sin™ (2ey1- ¥ |+3Cos™ v~ Cos™ 4+’ ~3x)=
Options :
4Sin™ x, when x e|[-1,1]

xe[-L1] =2¢4Sin"' x



)
=
=
g
=
-

M
eyl

|

[ —

|

|H

2
xe|-l-—— |2 ¢rm
\/E .
2. %
33
—7 . when xe| —.,—
22
_—ll}
ve | ——, —liaes=r
12 2]°
3. %
- i 1
4Sin~ x+2Cos™ (4x’ =3x),x € i
4. %
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Correct Marks : 1 Wrong Marks : 0

If the range of Sec ' ix+Cosec 'hix is [a, b). then
—<|a, b) =R L!SGC ' hx + Cosec '!u'/’/l

Options :

a={l_b=1

a=\/§.b=o¢-



a ?!’(Jg(l—l—ﬁ)? b=w

3. %

a=0, b=/og(l —I—\E}

Question Number : 27 Question Id : 3426041307 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

s | 1 3
In AABC, if + = , then sin A =
a+b c+a a+b+c
1 I 3 #
sin A =~ - = , 1A AABC
a+b c+a a+b+c
Options :
|
1, %
I
2. % -

|4

|
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Correct Marks : 1 Wrong Marks : 0

If the angles of a triangle ABC are i A.P, then
CHSAP L ABCEL ]

Options :

c=a*+b*—ab

1, %
2 2 2
a =b "4 —=qc
2_%-5
2 p 2
b*=a“+c°—ac
3. %
2 2 2
b=a’ +¢
4, %

Question Number : 29 Question Id : 3426041309 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

l+cos(A—B)-cosC

+cos(A—-C)-cosB

l+cos(A—-B)-cosC 4

— = AABC
l+{:{}5(i\—(‘}+cusB

In any AABC,




Options :

2 2
7 B o i

s ) s )
B ie

2 2
b* +c

b"+a’

2 2
g +C

) 2
a +b

a i

2 2
a e

Question Number : 30 Question Id : 3426041310 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

b—ccosA

In any AABC.
c—bcos A

b—ccosA
=« AABC u’(

c—bcos A

Options :

sin B

sin C



cos C

cos B
cos B
_ cos C
3_ 4
sin C
sin B
4. %

Question Number : 31 Question Id : 3426041311 Question Type : MCQ Option Shuffling : Yes
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Let a=2i- j+2k and h=3i-2j-5k be two vectors. Then the projection vector of
b ona vector perpendicular to ais

ﬁﬁ/gh 4)%&»“».{12./. y J%J-Uj;%» b= 31"—2‘/"—51(.' Ma= 21'.—‘1.'+2A; Q/L,P/‘

M)
Options :
Dt -
=] [
3(: j 2&)
1. %
Frdjok
2. %



13~ 4- 11-

— i+—j——k
3 3*] 3
31 20—~ 41-
i—— j——k
9 P g
4, &

Question Number : 32 Question Id : 3426041312 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

If Pi-2j+3k, 2i+3j-4k, 4i+13j-18k are the position vectors of three collinear

points A, B, C respectively, then the vector in the direction of AB of length‘P‘ s 1

GIIFEAB,CUP S ARy Pi-0 43k, 23] -4k, 4i+13] 18 )

L3Pl fer LB M
Options :
2 i - o
i+57-7k
(i)
%[3’5%_}—7;{?)
2. %

(25+5j—ﬂ5)

ﬁ—.
0
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Correct Marks : 1 Wrong Marks : 0

If o, are scalars and r=(2+-3p)i+(f-3)j+(2a-3p-1)k is equation of a
plane, then that equation m Cartesian form 15

“-;_.;-,f,wi’ L r=(24a-3p)i+(B-3)j+(2a-5p-1)F b a, 8/
-9&&%%&MMJ
Options :

2x4+y—-z+2=0

1. %

IX—p—z=95
2. %

2x—y—z+8=0
3. %

2xty—-z=2
4.
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Correct Marks : 1 Wrong Marks : 0

o | TSR r
Let a, b, ¢ be three unit vectors such that a x( bx c] :Eb. If the angle between ¢, b

is 6, and the angle between g, c is 6, then 6, + 6, =

cf-a ustH.«:lJub‘mCa / ax( )X c) f(,/ﬁ'lu‘Mdeta b, CJ/W
b, 6, =fie 6, ity

Options :

150°

1.+

180°

120°

90°
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Consider the four points 4(1.-2-1), B(4.0,-3). C(L2.-1) and D(2,-4-3) in

space. If b= 4B, c=AC, d=AD then ————

Options :

40
1. %

—40
2. %

20
3. %

—20
4.+
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If r=b+ta,r=d+sc are the two skew lmes, then the shortest distance between
them 15

:".J-"[ﬁ/{UL’ﬂL'uf u"”lJ(f/m b+ta, J‘d-I-SEﬁ

Options:

Magnitude of vector bxd

JI.JLE"JJ%E;XE

Sum of orthogonal projection of b on d and projection of d on b

(b¥d r sy d€b J’?Mﬁf]m

orthogonal projection of (E} - E) on (5 xd )

4(Bxd)¥(a-3)Fg ST

orthogonal projection of (5 - c_i) on [a X c)

4(axc)¥(5-d)FFrgd F4

4.v
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When a die 15 rolled 42 times it is so happened that a face having the digit 7 occurred
2i times. The mean deviation from the mean of this discrete frequency distribution 1s

LN InBh s pici i Sl Sl p e 2 0
ced i /iss)

Options :
80
63
1.
24
3
2. %
P
41
3. %
[5
4. %
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Let S be the sample space of a random experiment and P be a probability function
defined on the power set of S. Two events 4 and B of the random experiment are called
mdependent if

Ul £ 36 uy.);mgésﬁfﬁ;mgm(, PRI NN
JEL b B

Options :

P(A BS) = P(A).P(B)

1. %
P(AS  B) = P(A).P(B)
2. %
P(A° B°)=(1-P(4))(1- P(B))
3.«
P(4~ B)=P(4).P(B°)
4. %
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Three groups of children A, B, and C contains boys and gitls as given below. Group A
contains 3 girls and one boy. group B contains 2 girls and 2 boys and group C contains
3 boys and 1 girl. One child is selected at random from each group. The probability that
the three children selected are 1 girl and 2 boys 1s

-;g@.g;nt,,f,;_f“,; UL Auf) Coh Bl F Ly
e LI Lol 3an/

< il lscns we I jf gl B/
rl{ b pusl e f o s DL hens)

Options :
9
32
1. %
3
32
2. %
13
32
3. ¢
19
32
4. ®
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If P(AuB)=0.8 and P(ANB)=0.3, then P(A4°)+P(B°) =
P(A°)+ P(B°) =< P(AnB)=03,5 P(4UB) =08 /]

Options :

0.3
1. %

0.5
2. %

0.7
3. %

0.9
4. &

Question Number : 41 Question Id : 3426041321 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

The probability distribution of a random variable X 1s given below:
i XS

X=x 0] 1 3|4 | 5 | b 7

PX=x) |0 k | 2k | 2k | 3k | K* | 2k* | Tk*+k

]

Then P(0<x<4)=
P(0<x<4)=2

Options :



| &=

1. %
"
3
S
2. *
I
2
3.¥
1
4
4. %

Question Number : 42 Question Id : 3426041322 Question Type : MCQ Option Shuffling : Yes
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[n a poisson distribution, if P(X =2) 1s twice P(X=1), then the standard deviation of the
distribution 15

:‘.JLJ/,*mijusZPX 2:’_ JP fu‘:fjuﬁ..fl

Options :
1
1. %
2
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If A(2,3), B(3,-2) are two fixed points and P(x, y) s a variable point satisfying the

condition ‘PA —PB|=2. then the locus of P 1

PA-PB|=2¢ b2 Pl ) e b ndnA(23), B(3.-2)

{.J%P«.,}'n:'_p/

Gl

Options:

(x+y+1)° =4|:(_T—3]

1. ®

(x—5y—2) :4[(;-—:2)2 + r—:«sﬂ
2. ®

(x=5y-2)* =4 (x=3)" +(y+2) |
3. v B



(x+y+1)° :4[{?(—2]2 —l—[_v—:«’,)l]

Question Number : 44 Question Id : 3426041324 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

The equation of a curve C is transformed to X” 41> —6X +8Y +21=0 by the rotation

of coordmate axes about the origin through an angle of T in the positive direction of

. i g g : 1
Xaaxss. If ax™+by +cx+dy+e=0 15 the equation of the curve C before the

transformation, then (a+b+c¢*+d* -5e) =0
N Be e bLf el einthe T +1 -6X+87+21=0 Clr Ll
ul",.f_.::»lsbﬂﬁ?(‘ ar’ +by* +extdy+e= Oﬁ,u:.:f;.;i&f - X,ﬂ";,iif:fjbufl %
(a+b+c*+d"-5e) = Oh'.«",é:i,g

Options :

4

2.



Question Number : 45 Question Id : 3426041325 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. . o X=X Y=Y
The equation of a given straight line 15 —+ =—1 =

— = . If the equation of the lme
cosd sinf

. - . %y b
perpendicular to the given line and passing through (e, £)1s — _E =1then — =
- { #

(a. f) 41 ‘J}fl.bid..)..ibl# j i/ ‘__ 7 r e VL.L?L,&P\.ﬁ)juJ

cosd  smf
b X ¥ .
:—Jd.—ﬁ-'—:ld'uf,ﬂfid:
a¢" ' ab

Options :
Tané#
—Tan @

Cot&

—Cotl)
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The origm belongs to a region between the lines x+2y-5=0 and Jx-4y+5=0. The

number of pornts 1n that region of the form ((a -1, cx),a el 1s
(@11, 0), 0 € Loc K 3L -4y 4520242y -5 =06 P KT
L AgnIfUPLF

Options :

Infinite in number

1 e s

1. %

3
2.

4

3. %

2
4, %
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Let A(L1)be a point. B is the image of A with respect to the line x+2y+2=0.1fC
15 the foot of the perpendicular from B on the line 3x+4y-10=0, then AC =

cBeHirChg A{_-f Be L x+2y42=05-c B ALY/ f/

AC=uy b 3x+4y-10=0

Options :



5~

)

&
&
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Image of A(1, -2) with respect to the straight line L=2x-3y+5=0 15 B. The foot of
the perpendicular from P(—4, ~1) on to the line joining AB s

BLE AB (-4, -1)0 ¥ ¢ B WL L=2r-3y+5 :owufﬂ(l. )

Options :

(1,-2)



Question Number : 49 Question Id : 3426041329 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The numbers ¢and f are such that one of the lines of 2x*+¢xy+3)* =0 coincides

with one of the lines of 2"+ fxy-3y* =0. If the two lines other than that line are

perpendicular, then |a } /}| =

20 4 frv-31* =0 ‘f_.:'.»'ﬁjlfJ .,gl;:,uf,?byﬁ 2 a3y’ = 0.J] " )Jl Bulayw
|a + [J’| :J:VEJ/asll&f.LiJlbﬁ::j,ﬁb.{:J;lc;u:b)w

Options:

S
1. %

4
2. %

0
3. %

§
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. - . . . . 9
If an angular bisector of the coordinate axes is one of the lines of x* + 2axy +3)* =0,
then sum of all possible values of a 1s

‘ijibf J ﬁl&K,l'!L?Lagx,f_.gauﬁ ¥ 4200430 =0 b u%."’"ﬁdkﬁuvgbfii 3*:':51!(

Options :

=1
1. %

|
2. %

0
3.

2
4, %
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If ¢, are the toots of ¥’ +2x-3=0 and 7,0 are the roots of "~ y+4=0, then

the equation of the circle having (e, 7 ) and (,0) as ends of a diameter is
-{lfb/b/l aiwia}l;g;u;;;gi V-y+4=0y,0 I L +2x-3=0a, f Ji

J(B.0)al (ay)p L



Options :

A

x>+ +4x-3y+2=0

2 2
X +y 42x—y+1=0
2. %
x> +y*=3x+4y+1=0
3. %
¥ = 2xpp—1=0
4. %
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If the inverse point of (1, 1) with respect fo the circle x* + y* ~4x—6y+12=0 15 (1, £)
then /1 + k=

h+k=ge i, B B+ -4r-6y+12=0 B(1, 1)/

Options:
22
3
1.¢
8
5



|
U":’x
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If hkpg#0 and the circles x* +y*+2hx+2ky=0 and x*+ y* +2px+ 2y =0 touch

each other at the origin, then hg - pk —h_z -
PR
TSl P4y +2pca 2y =00 47+ D+ hy =007 kpg 0./
1 :
hq— pk - L S LA
pk
Options :
~]
1.
0
2. %
1
3. %
2

4, #
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The locus of the centre of circles passing through (a, b) and cut the circle
X’ + ' =2x+4y-4=0 orthogonally is

LsLBss {4y -2 +4y-4=0 a}fwlf_y.u?i:..(a. I))u/ 1’54 o8y
r;‘..
Note: For this question, discrepancy is found in

question/answer. Full Marks is being awarded to

all candidates.

Options :
{”JF])-I‘Jr{f'JJr'?_}Jr:“_‘F;? +4
1.
{f'-'+l).1'+{h_2)”1_,:ii‘_+h‘+4
2. )
2 2 \
{f'-'—l}.r+(h+2}_1,~:_(ﬂ +i:r' +4J
3. s



e e |
2

(a—Dx+(b=-2)yv=
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Consider the system of circles x*+ y2+2‘fj:+}t(x2+ V' +2qu+k)=0, where

g#0,/#0 and / a parameter. If A, B are the point circles of this system such that
@% then ¢’
L178g 20, f 200 x +1 +2fp+] i +y 4 gtk = OJ/M." K s
: ; )

gz_.; ’IOB=EIC)UM7";M£}£’ Uz]Jl A, Bj-.c". #J'ﬁ&)’}'ﬁ"’k
: ( o ,

Options :

—k
1. %

®

2
2.9

0
3. %

]‘..2
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A (-2.3)is a fixed point outside the parabola y* =4ax (a > 0) and P is a point moving
on the parabola. The locus of a point Q which divides AP in the ratio 3 : 2 is a conic,
Then focus of that conic 13

QISP et F i B E BLS AL =tar o> 0 PF e BLAC
AN e L L3 2 S AP:‘:‘;_,-/ )y

Options:

(-:‘L_ U)

1.%
(-4 3a a)
T’
ax N0
(3{?—4 6\
5 5
3 ¥ \ /
fa 3g—4)
LA 5
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The length of the latus rectum of the conic 25[(x-2) +(y-3)"]|=(3x-4y+7)" is

f;_JquﬁJuLzsux—zf+(_;>— 3F]=(r-dy+ 7V 3%

Options:
|
3
1. #®
~
e
J
2. ¢
£y
By
S
3. %
4
J
4, %
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( b 3 he ells 4y =36
onthee lpse ‘{ + 'l = )IS
Wi

*;:_GZJU:L’EJ}@“JI(E»L;

The sum of the focal distances of tl

—J B 05 +4y* =365

\5

%-‘h

Options :



A
2_%-5

9
3. %

6
4.9
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If F, and F, are the foci of the ellipse 16x” +25y” =400 and P is any point on i, then

the value of the product PE-PF, lie mn the mterval

AL PE-PE, e B BAI AN L 165 4257 =400 (HF, m1F /)

< (hgles
Options:
[16,25]
1.+
[0,16]
2. %



[25,400]

[0.400]
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4) il

If the hyperbola — —‘;—, =1(a>b) has eccentricity and the length of the latus rectum
a b

. 5
respectively equal to Zand 9, then ab =

ab —..«-=£9J'| ~¢/] /..ﬂf)f&u’/*rmuwﬂmauﬁw 1—2—1— =1(a> b)ji

b

Options :

1242

184/3
2. %

48
3. %

20
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(3328 38)
The ratio m which B i} —8 —8

\5'5°5)

divides the line segment joining A(3,2,4) and

C(9.8.10) is

(33 78 38)

CO8I0AABL) chizai f Lt/ B\ Ju*u A

Options :

2211

=
ad

LA
d
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If1,2,3and -1, 0, 1 are the direction ratios of the rays OA and OB respectively, then
the direction cosines of a normal fo the plane AOB are

WG Lot £ AOB 2 PG LU OB AOR AT -1.0, 141,23

Options :
it 1 -4
L. BB
221
3 4. 3
2. ®
4 F
RN G
3 4 12
BED
4, %
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If the equation of the plane passing through the point (2,-3,4) and perpendicular to

both the planes 2x-3y+5z=2 and x+y+2z=3 1S x+ py+qz=r,thenr =

r:_.ufﬁ x+y+2z=3nldx~3y+3z=2 u}/uﬁuﬂlaljbf{gbfaﬁ'ﬁ"(2,—3,4] //l

=Xt pytgz=r

Options :
5
11
1.+
42
11
2. %
-1
11
3. %
39
11
4. ®
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1 o . 1-cos2(px* +qu+r
If a, b are roots of the equation px~+qgx+r =0, then lim i q}x i
b ) px—pb)

[im
=bo )(px—-pb)

[-cos2(px* +qx+r . ’ f
Lol q} I)ZJ -fr.bu.'.?wﬁc-ffﬂ“‘/ﬂ"ﬂ?—""”:(m

Options :
1 5
—(b—-a)*
2( )
1. #®
(a+b)
2. %
I
2
3. %

a® —2ab+b*
4, &
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4+ x4

+x=2

If f:R-R defimed asf(x)= (when x#-2) 15 confimuous at

x=-), then f(-2)=

b 2
% A’z—E,LJ’Vf(x):x o +x+2(whe11 x;t—2)f?_lggu§.u|f:ﬂ§—>}%ﬂ

‘ ¥ )
()=
Options :
. D
1. %
-
3
2.
2
3. %
3
5
4, %
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Match the rtems given in List-A with those of the 1tems of List-B

ufl‘f,jﬁc,w /-Zg .J“_:J A-er }(w/jLB-wﬁ

List-A
A-er
A) |A'|+|_r—2|

B) Cosec /iy

C) x-[x]

The correct match 1s

B O
Options :
A B
I IAY
1. %
A B
\% I

List-B
B-ovf
I)  Right hand limit does not exist at x=2
CIRY(Hhgx= ZMJ 4 Pl
II) Contmuous only for non-zero real values of x
AL /ﬁﬂrxéx..:‘/f
I) Lt 15 zero for all real x
{./”’M?;J.Lx&” e
IV)  Continuous for all real value of x

@f.,u:" Jﬂ lg_,;L/LxJJ/

V) Discontmuous at all mtegral values of x

/,:Jfﬁfxrf/,;;&%d/&':_,ibix‘jy/f

£ D

V I
& D
II IAY



IV II V I
3. ¢
A B L D
III I IV Vv
4. %
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Teoszx], x<I
Suppose f:R— Rdefmed as f(x)= t ﬂ.] X
1 2{1‘1 i l X I::>1

greatest mteger function and the fractional part of x respectively, then at x= 1
(Teoszx], x<

meﬂﬁ f [l f(x) =3

. where []and {-} denote the

]. % i ‘e
..L.ft}ifs'u“lj :5;—}[&_{/?
-1, x>l

= log A et
Options:

right derivative 1s 2

207 45

1. %
left derivative 1s 2
b S
<207 U4
2. %



right derivative 1s 0

{_.U:):i‘ J"-'-l:

left derivative 1s —1

9—13&&%
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- dy
If yv=tan(Cos ' x), then — =
dx
dy ) . 2
— =< y=tan(Cos " x), /(f
dx
Options :
_-Tz
1—5*
1. %
—1
| =n?
2. F
—1
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1 d*y
If y=—+cos2x, then —=
X dx
2
d’y |
=~ =S¢y =—+C0S 2x /1
dx” X
Options :
2 4
=AY
N - X
1. %
4 2
Gy
A o
2_ F
2 4
— +——4y
X X
3.
4 1
4y ——— s
x X
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—(u-m { +t°cosec hr)
dt

Options :

sec? t + 2t cot ht — t*cosec ht cot ht

sec” f +2tcosec ht —t~ cosec ht cot ht
2.

sect + 2t cot ht —t* cosec ht cot ht
3, %

sec’ t+ 2t cosec ht +t* cosecht cot ht
4. %
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The side of an equilateral triangle 15 5 units. In measuring the side, an error of 0.03 units
1s made. Then the percentage error in the area of the triangle 1

3L koot b e oo L0052t to e 5o L bS]
HpA

Options :



]

1. %

.

i
2. %

A4
3. %

5
4, %
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The ratio of the length of the subnormal to the square of the length of the subtangent at
any point P on the curve y* =(2x+1)’ is

LL,;PJ?EJU/!- =204 l]gff‘ql‘%@/@%@f‘ Eq,é@(ﬂgh’g

Options :

27

1.4
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If 0 is the acute angle between the curves x* + > =20202 and x* ¥ =2020.. then
sinf/+cost

tan ¢
sin ¢+ cos ¢ e .3 5. B i
T e el Qe sl -y = 2000 3 4 47 = 20002 Ui/
tan & it ‘
Options :
Jg_
1. %
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f:[L,3]-R is a function defined as f(x)=x"+ax*+bx. If f(1)-f(3)=0 and

(a1

f =(. Then, a-b=
5
f(l)-_m)=0/7-ﬁg5u;.f(,r)=,ﬁ+ax2+bx &‘S.{u/ £l 3]-RY;
a-b=1' @ =0,
N

Options :

5
1. %

=
2. ¥

43
3_ F

_zﬁ
4. %
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(7 \ 7 7
Let tan’ x=1.If I Z tan” x ]dx = ZAA- tan® x +C, then ZA;‘, =
/ k=1 k=1

k=0

7 7
ZAR:"-';‘J.LZI‘]" 11{.&—2/\ tan” ’i‘|‘C.f|lEll'l 1—lu’/ '?/
k= k=0 /

Options :
L
25
1. #®
28
15
2.
38
39
3. %
124
75
4, %
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]
gy =
Jx? +x+1

J-«JJ:E +x+1dx x J-

Options :



2. %

x+C

i

{21’%—1 : 4 2x+1 ( Z.T—I—l}__(ﬁ

:,;
x"+x+1+—=Smmh JSiu h'
L3

- g V3

/ N2

2?{‘1’_'1811111‘1 ('J.T'j +x+l]+[ Sinh™ 23;1

1€

oo |

2

+C

2.‘(; 1 (Sin bl 2x+1 1

\ V3
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I dx _
\/(5 £2R+55)

+C

" \/5 + 25

2. ®



+C
\/5+2:~:+1’3
3. %
i e +C
4 \/5+21‘+x2
4.9
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Z msinx
J-E—,,(z'_r:
0 ]4+cos™ x
Options :
2
g
1, %
2
T
o)
2. ® =
2
T
3. v 4
2
T

6
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T \ X . X
j \jl +4sin’ —+4sin— dx=
0 2 2
Options :
T

gt 2

T4
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. : : i : 3 ; A :
The differential equation for which y° =4a(x+a), (Where a 15 a parameter) is general
solution 1s

‘f"f ( li(g’-f # L lag) ' = da(x+a) f’..iévr?"'"“&ﬁ

Options:



3. %
v(y—y")=2x)

4. %
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Which of the following 1s NOT a fundamental force in nature

e B GBI S S psa

Options :
Weak Force
N T o
- =2l A
Gravity
F
2. %
Friction
4
S
3. %
Electromagnetic
Jz:u’*:b -
4. %
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The error i the measurement of the length and the breadth of rectangular table 1s 1%. If the
length and breadth of the table are Im and 50 cm respectively, then the area
of the table mcluding error 15

o /Ui U150 Clllﬁl1]111}’)"}?’:j51&4-J \,( [ﬁﬁ-lq’b{_f Uzé.tiéljﬁf}lgudﬂv%viug
::./J,L}(f;){kﬁ#‘

Options :

({}.Si 0. l) m-

1. %

(0.5+ 0.01)m’
2. ¥

(5000 + 10) cm’
3. %

(5000 = 1) cm’
4. %
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A ball 1s dropped from rest at time t= ) from certam height. A second ball 15 dropped from
same height at time t =1 5. At what time t, the distance between two balls becomes 10 m?

o1 .'.':’,'(/ DA sajséﬁlj cJay Uv‘:f dﬂ:.ﬂ-ad/i@cﬁy LE 0..‘:35{ d|/ k:f 1
Wlxl0 111Jﬂliuw£»f Uy

Options :
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The acceleration of a particle is increasing limearly with time t as 6. The particle starts from

the or1gim with an tnitial velocity10mys. The distance travelled by the particle after 2 seconds
will be

i.W:?MLL1011L*ISJD'J(5|,5:1..1:||J€CJ /’ e i 5 e 6t5 L’Ltﬁ)&#%ﬁﬂ’ﬁdﬁ&ﬂih{‘
4 ;*ﬁzw



Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

18 m
1.

14 m
2.

22 m
3.

26 m
4.
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A man can swim with a speed of 4 kb in still water. How long does he take to cross a
river | km wide, 1f the river flows steadily 3 kmh™ and he makes his strokes normal to the
LIVer current .

c@/“:u;(u.’;iﬂ_/;kdxdjf_,l km .5 dL:_, 7 r:.CC i :TJ;I;,;B JJ 4 kmh!
AT IS £ A A3 kuﬂrl(ﬁ” {1/

Options :



30 minutes

<230

25 minutes

25
2. %

20 minutes

<420

15 minutes

413
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Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A projectile object 15 thrown m the upward direction making an angle of 60" with the
horizontal with velocity of 140 mys. Then the time after which its velocity makes an angle

30 with the horizontal is (use ¢ =10 my/ )
e B uoniss L e ks fel i 2 fib g
(y/Je1g=10ms’ )a’védiﬁ&,ﬂ;moqw PIEE

Options :

1. %



14

B

’?xEs

2_35
144/3 s
3, %
7
—5
Jg
4. %
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In uniform circular motion which of following statement is wrong

%Mdkﬁfadﬁpﬁig;ﬂ ik =7 JJ{#UL-.{-Q

Options :

work done during one complete cycle 1s zero

}‘:{L._L;'y‘lfl"gc,lm: £/§J'(bgl



Centripetal force acting towards the centre of circle

= -

._‘.Flg-é}(/iafl:,.:;.}ufﬂ;dibﬁ’/i;

Angular velocity 1s constant

e S s st

3. %

Tangential velocity is constant

v’:_-uWJD'JJLﬂ}

Question Number : 88 Question Id : 3426041368 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

[magine a person standing on a weighing machie placed mside an elevator. The elevator
first accelerates, then moves with a constant velocity and finally decelerates to stop. The
maximum and minmum weight recorded are 80 kg and 64 kg respectively. Find out the true

weight of that person considering g = 10 m) §
LS A b e LD SIS Enl
26 ko0 ke VT < il Sl A L
<L g=10 111/5ﬂ/(:£‘”d)s§(ful

Options :

1. %



70 kg

85 kg
2. ®
72 kg
3. %
65 kg
4, %

Question Number : 89 Question Id : 3426041369 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A force acts on a body of mass 15 kg, mitially at rest. If the mstantaneous power due to the
force at the end of the third second 15 5 W then the mstantaneous power (in W) at the end of
the fourth second wall be

/fLl‘ﬁ{_ﬁaa'@(w};{ﬁuﬁ-aﬂ@.u:f,:/&f,(:u;15 kgif’?dﬂﬂﬂ/&lw}uﬂ
,(ﬁ{,fjﬁ W ;;(JW)JM/..@ \

Options :

6.33

6.67

2. %



Question Number : 90 Question Id : 3426041370 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Aball of mass 2 kg 1s moving in vy plane with a potential energy givenas U=(12x+16y)],

v and y being m metre. Assume the mitia lposmon of the ball at t = 0 1s at origm (0, 0) and

"15'—20"
il

RN, x AL !MzudU (12r+16y I;J/"Ju xyLu) kav

it 1s moving with a velocity of mys. Then identify the correct statement.
5 foas = o et o9}
eJf il 151420, /s &400) 41 = RTINS
| | . : A
5 / S t’Ju( e s
Options :

The path of the ball 1s parabolic

quﬂ':f'igﬁ!

The direction of motion of the ball mitially at t=0 1s parallel to the direction of
acceleration

f.d}lf”iwidf;; t=0dl£:lafd/;fi£»f

3.¢



The speed of the ball at t=2s 1s 5 m/s

,-:_.5 111x"5J; t= ZSJGJJ A:.f

The magnitude of acceleration of the ball is 8 m/s?

<8 m/s’/I 4+ Sy 7z J. »j

Question Number : 91 Question Id : 3426041371 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A particle 1s moving in a circle of radmus 5 cm with uniform speed and completes the circle
15 5 5. What 15 the magnitude of lmear acceleration

?‘:_'L‘ij@d/ gf/:uﬁ .gukq’V” I JaS sl Lfi.ft'sﬂé/vww Cllld:u,?lsbgl“:.u{ f Mju-g

Options:

-

0.87° cm/s’
1.¥

0.87° m/s’

0.8m cm/s’



0.87 m/s’

Question Number : 92 Question Id : 3426041372 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A small disc of mass 1 gm shides down a smooth hill of height 10m from rest and gets on to
a plank of mass 100 gm as shown i the figure. Due to friction between the disc and the

plank, the disc slows down and moves as one piece with the plank. The work done by the
frictional force 15 approximately

(Use g=10m’s")
LL,:?LT/;:? LodZ100 gumI;LlOmJ‘lpfﬂ uﬁ) S J é:;:f Lf{jli{ﬁ: fus] gm/.,.g il
LAl ;snm’!'f; fa,.;;%uwiém 7 -{.mwv/’
(/J1g=10 111/52):;.-@‘ jlﬁff((:;::i" §,

lom

7

/f
)
=
-
-
10m )
i

e i

1002m

HITTITTHTT

Options :

0.0L7J



10J

2 %
)
3. v
Ld
4. %

Question Number : 93 Question Id : 3426041373 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two particles execute simple harmonic motion (SHM) along close parallel lines. SHM of
the both the particles have same frequency and same amplitude. When they pass each other
moving m opposite direction each time their displacement 1 half their amplitude. Then their
phase difference 1

BHIGL EIS L Lo G SN o v b A LS iy
B2 4 lilb(/ iy M?‘.{Jw JJL?US’Z.J; cipokinaa LSHME el

LUJ Ao
Options :
0
1. %
2n/3
2. %
/3



/2

Question Number : 94 Question Id : 3426041374 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

Match the following

b "# &
Lt:)f{d.é.lé.

Column-1 Column-2
-y 2-J5

A) Potential energy of satellite [) Positive
JL’f J .-:Cl ;,( Y o

B) Total energy of satellite II) Negative
L;EL';J-‘?JM‘L: is

C) Kinetic energy of satellite [ll) Zero
SIS ok #

D) Gravitational potential energy of satelliteat  IV) Infimty
mfinity e

$ni P Sl glite

Options :

IV 1II I III



A B ¢ D
I11 I IV 11
2. %
A B C D
I 1II I 111
3.¢
A B £ D
I I IV 1
4. ®

Question Number : 95 Question Id : 3426041375 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The graph below represents a typical stress-stram curve for a metal. Identify the pomt on
the graph that 1 the ultimate tenstle strength of the material.

o JfW#leJLaJ}ZQI du-’lﬁd/ Jz?}/,',..jlj -:':.’Z:,WW FFL .{l:".ﬂ‘%f Wf;;é

-

i

Stress

Strain—

Options :



3.¢

Question Number : 96 Question Id : 3426041376 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A shower head has 25 circular openings, each with radius | mm. The shower head 1s
connected to a pipe with radius 2 cm. If the speed of the water in the pipe s 25 cn/sec, what
15 1ts speed as 1t exits the shower head openings

W Adipud) emfey L mm Bl ot S Lk
“LM )4 i # Ikl L:?J Mfﬁ';d" <25 ew/ sew%J&Mﬁﬁ

Options:

1 m/s

2 m/s

4m/'s



5 m/s

Question Number : 97 Question Id : 3426041377 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A block of matertal with density 3 gm/cc 15 placed on a flurd of density 7 gmycc. The fraction
of volume of the piece of matertal outside the fluid 15

vy :..,g',‘: IR AR jf;i’, 'C& on/ce 25 ( ;,l::“&.%glll;-"cc
b/-g“ul’f/"ﬁj&. FhLonlld ART emlee 25 L6um U3

Options :

0.43
1. %

.57
2. ¢

0.63
3, #

0.15
4, %
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Correct Marks : 1 Wrong Marks : 0



The radiated power of a body at 400 K 15 1000 W. If the temperature 15 raised to 8§00 K,
what would be the radiated power of the body

S Kb B0 RS 7 AL 1000 W00 Kb 34 23]

Options :

12000 W

15000 W

16000 W
3.¢¥

18000 W
4, %

Question Number : 99 Question Id : 3426041379 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A metal ball of mass 1 kg 15 heated using a 40 W heater in a room at 30°C . The temperature
of the ball becomes steady at 70°C.. Assuming Newton's law of cooling, the rate of loss of
heat to the surrounding when the ball 1s at 40°C 15

earfaly 10 4 rfd:./ L 30C < Ly 280 WH el HosL ] kel
ey 0C U PSELagp AP SPINIA B L i o
Options:

20W

1. %



2. %

25W
3., %

10 W
4, &

Question Number : 100 Question Id : 3426041380 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A cylinder consists of a gas mixture of Helm and Oxygen. If the mass of Heltum 15 4 gm
and the mass of oxygen 15 32 gm, then the ratio of specific heat of the mixture (Cp/ Cv)

30 /W Tl d gy Lb’ﬁ]icf_ /‘( JOKF T,,f&ﬁ § 80
(Cofcr) et L
Options :

2/3



Question Number : 101 Question Id : 3426041381 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An 1deal gas goes through a process A-»B—-C—A cycle. The process A—B 1s
adiabatic. Calculate the work done m the process A —B

A-B3 ) S ABIfe 3PLLihABC A S b

/
J f(,’JJ") S
P h
A
iBy pmmmmmes
P prommmnn ¢ B
B T
| |
| |
I |
t L5y
v, %
Options :
Pu V[}
1. %

2.



Question Number : 102 Question Id : 3426041382 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The temperature at which the r.m.s speed of molecules in hydrogen gas will be double of its
nitial value at 27°Cis

Wi # - p p g
£27°C L,u.’dimléluq pud IS LJV{M@;I} bl
Options:

300°C
1473°C
927°C

546°C



Question Number : 103 Question Id : 3426041383 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two 1dentical wires have a fundamental frequency £, when kept under the same tenston T.

[f the tension of one wire 15 mereased by AT, then the N beats/s occur when both wires
oscillate simultaneously. The correct statement 1s

AT L TR ML e by £y v

ﬁf.ug;«m-Lﬁf s Lf..{.[u"jlj,';}}g%t'!?chjj }u’,ﬂ/ J?J N

Options :
AT _(f,+N) _,
L LR
AT | % | 4
T \f,-N)
2. %
AT (=N,
T f,
3. %
AT (£ +NY
T | f
4, %

Question Number : 104 Question Id : 3426041384 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The focal length of a biconvex lens, made of glass, of equal radi 1s £. If the lens is dipped
mn the water then the focal length becomes.

o 1% J ;
(Take refractive mdex of glass and water as 7 and % ,Tespectively)
Evndd it P e AP 3 S S Lk
¥ § o g
(Jﬂl&'uciﬁléu ,i'lyﬁ/;mﬁ;ldg)
] :
Options:

of
Af
(5/3)f

(7/4)f
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White light 15 used to 1lluminate the two slits in a Young’s double experiment. The observed
central fringe 1s

2 Y oa “ 4 of wo i ¢ g A
.f_LfLaf'f, /d)/ Fiten " /;mfc h.fluJ L,(LJMJM-V@LLLDM U4

Options :
Black
1
1, %
White
Jk.ir
2. %
Blue
1%
3, %
Red

Question Number : 106 Question Id : 3426041386 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0



A circular wire ~loop of radius 1 cm carries a total charge 1x10C distributed uniformly

over its length. If 0.01% of 1ts length (circumference) 15 cut-off, then the electric field at the
centre of the loop due to the remaiing wire 15

(Take 8. 9x10” ST unif)
dre,

001% (1] Lﬁ uub:&pf IPFIXI0 Cle e b3 B did] e NI
l :Qxlﬂqgﬁ-}){.i?'.( }UfJL/:L'EIFL;;J}IJLE@@LN:MJU

dre

;

(e

0
Options :

3x10° N/C

1. %

6x10° N/C
2. ®

9%x10° N/C
3.¢

1.2x10> N/C
4, ®
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A hollow metal sphere of radius 15¢m 1s charged such that potential on its surface 15 20 V.
Then the potential at the centre of sphere 15

el B i e 0Vl U lseme Sidon obi

Options :

0V

20 V

2. ¢

Question Number : 108 Question Id : 3426041388 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider a wire of length L with a resistance of €. Applying an external force, the wire 15
elongated such that its length becomes 3 L. Assuming the resistivity and density of the
material s unchanged, the resistance of the elongated wire 1s,

drdlﬂf S0 ﬁ’llﬁwlméﬁf).lim’“ Js J (W L»Liu"j/ 150 UfJJIrJL?fﬁbgfL;: /i UP/;
wi'_up jJK/”lsLﬁ.&JﬁJf; J ¥ S gl f.:v} &JLQ /LP /5,3 L

Options:

1. %



40 Q

45 Q
2.V
50 Q
3. %
48 Q
4. ®

Question Number : 109 Question Id : 3426041389 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When a metal tod of lengfh / is placed in a magnetic field B and moved with velocity V
perpendicular to the field, then the mduced emf across its ends 1s

Z..’./Efemf WiV Jny J:/%ir"_b(;uf Bes Jb WJJIJD&I‘J [ I?jgwﬁ\-{’l—.ﬁ.’

e y/
Options :
BV
1.¢
B/
Vv



eB/
4, %

Question Number : 110 Question Id : 3426041390 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A coil having 2000 turns 1s wound tightly m the form of a spiral with mner and outer radi

. l . .
| cm and 3 cm respectively. When a current —mA passes through the coil the magnetic
n

field at the centre is calculated to be K In 3x10°° T. The value of K is
il ﬂf& e Fidd emall em(f ﬁw&w: J‘ u(@:".guﬁ%iu/fujgﬂ 20005, é.fr
u dhs: o - , / l
,iau)u(K*u( Jr}” Kln3x10° Tybrsed u)b e L.‘édx’/’ —MA &2
T

Options :

20

1.4

10

-2
N

4. %
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Correct Marks : 1 Wrong Marks : 0

The direction of Earth’s magnetic field at the magnetic poles 1s

.:;.:«fd/b;u":bb?m;g:,;ﬁu%w

Options:
Purely vertical

$asf 7l

Purely horizontal

Fiiel
2. %
45 between horizontal and vertical
S nZ5ssf 18145
3_ W
30" to vertical
= ($5347 30
4. %
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Correct Marks : 1 Wrong Marks : 0

A long straight wire carryimg current I and a rectangular frame with side lengths a and b lie
1n the same plane as shown m the figure. The mutual inductance of the wire and frame 15

et L 1L 180 Comfel s Siste i sl f

-
.1,(1 i .
{.J" A:Wu?l&é(fvﬁf/l;
I
b
¢ ) \
a (—.)
a
Options:
L
Ho .
2m
1. %
T
4n a
2. %
1,a
Bo? 1112
2m
3. %

4.+
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Question Number : 113 Question Id : 3426041393 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
A resistor R=300 Q and a capacttor ('=25uf are connected i series with a 50 V, —Hz

T
AC source. The average power dissipated m the circuit 1

-;Léwm_f’_“mcso VL i C=05 ASLAR=300Q i)
- .

.f.y’ﬂﬁgwuu{ /
Options :

05W

1LOW
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A radiation of energy E falls normally on a perfectly reflecting surface. The momentum
transferred o the surface 15 (c 15 velocity of light)

(EL;‘L"'JJJJUC)/‘:{;:.I}EJ& :?(u Y 5'.3@)&{.(@& */d'!f u’ qu.flu( EJL‘I;"

Options :

Ec
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[n a photoelectric effect experiment the cathode metal 15 exposed to light of wavelength
600 nm. The maximum kinetic energy of the ejected electron doubles when light of
wavelength 400 nm is used. The waork function of the cathode metal is approximately
[Useh=6.63 X107, ¢=3 x10°mss]

S S 7 e 3w e L e ml bsi¥bL, LA
r_.ﬁ‘ j\fﬁ Sifelost &6( S <9 400 m o2
(0= 6,63 X10%50=3 x10°ms /e ]

Options:

2.83
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In hydrogen atom spectra, if the ratio of wavelengths corresponding to the first of Lyman
sertes and the first lme of Balmer sertes 15 9 ¢, the value of ¢ 13

::.J)EJ aIa bl JJJ?/L.U' /LJ}K}L(JJJ'J Lgﬂ:ﬂiﬁj‘ds'g F/ Pull

Options :

0.5

0.8

0.6

3.¢

0.4
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Which one of the following statement 1s correct?

PRI Ui e S ar

Options :

The mass of the nucleus must be less than the sum of the masses of the constituent
neutrons and protons.

LABLin S iin Posged e il oW

1.9



The mass of the nucleus must be equal to the sum of the masses of the constituent
neutrons and protons.

LASLin Loy P bW

The mass of the nucleus must be greater than the sum of the masses of the
constituent neutrons and protons.

ZJ Wiz iiu) ljgf;}lu)‘ U’J@&HTLL;@?()UJWUIQ:

3. %

The mass of the nucleus must be equal to only the masses of the constituent
neutrons or protons.

LNLin oS penpig b

Question Number : 118 Question Id : 3426041398 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

What 15 the maximum wavelength of electromagnetic radiation that create a electron- hole
pair in material with band gap 0.7 €V Planck’s constant 4.136 x10"%eV-Sec, velocity of

light =3x10"ms .

~

LAU0TN A helf ety o b bld

it -Jrdldv L.
B 22023010 mfs e Y136 X105eV-Seg

Options :



1773 x10%m

1. %

1773 x10° m
2. ¢

1873 x10”° m
3. %

1873 x10°m
4. %
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The current through the ammeter (neglecting internal resistance) in the following creuit is

q_.:.;/‘:,u:}ﬂ(uj;dww’ J:&m')uiwf/zé-*é

100
b AMAN
100
N
) ANV

Options :

2A

1A
2.
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Correct Marks : 1 Wrong Marks : 0

A TV transmission tower of height h covers a range of distance ‘d’. By how much will be

%

i : @ 3
the range change if the height 15 increased to Eh

Snksuid, d»‘l.u.‘.mf%h Sk /s /mQKM‘dUsE’ﬁ) 7

Options:

1. %
. I
[ 3 ]d
2
2. "
3
—+1|d
2
3. %
d
4, %
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Correct Marks : 1 Wrong Marks : 0

Based on the Bohr's theory of hydrogen atom, the speed of the electron, energy of the
electron, and the radius of its orbit varies with the principal quantum number, respectively
as

uﬁ.ﬁ;}: ¥ /” Jﬂszuél mdt'l;J ,};:ugzdiff,c,{: {lf:[., ﬁlwﬂf I uauﬂ

G f I J’ Iz;

Options :

hEhE i




|

(]

=y
n n
1 L .
—;—:n
n n
4.9
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The energy (in eV) associated with the electron in the 1% orbit of Li** is

ol éfi Life 7 ,}',x:(urfe\-’)gu}?

Options :

—129.4
1.¢

—61.15
2. %

—30.5
3. %

—244.6
4. %
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How many of the following oxides are amphoteric?
o ’ G l‘“ -
?U:?J;FIUT—;: L éﬁfu:uhjﬂ?iﬂ

BeO: ZnO: Sb>03: CO: Ca0: SO, : SOz

Options:

2
1. %

£
2. ¥

4
3. %

5
4, %
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Among the options, the element with highest electron gain enthalpy 1s

eukbgdw:'dfﬂélﬁﬁ/é;fﬁfwQIJ‘L:?Iéé.J

Options :



He

’|_ e

Ne
2. %

Kr
3. %

Xe
4. %
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Match the following

Seiz2l F300a5
List-I
[~ g
Molecule
A

A) HBr

B) H.S

C) NH;

D) CHCIs

The correct match is

%jﬁu:wﬂu
Options :
A B
I \Y
1. %
A B
III IV
2. &
A B
I V

I)

List -1
II-or
Dipole moment (D)
(D)4 s

1.04

m o

III) 0.79
IV) 0.95
V) 147

IV

II

III

-,
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Correct Marks : 1 Wrong Marks : 0

Match the following

e = *
LA ARy

List-I List -IT
[~ II-er f
Species No. of lone pairs
e o Susiald
A) CH3COCH; D 2
B @ Hy &
) CH.C0 )
®
) CH,CH, 1) 1
IV) 3

The correct match 1s

IR
Options:
A B C
I I I



=
wo)
®)

I 111 II
2. %

A B 9

I |AY III
3 %

A B C

II I1 IV
4. ®

Question Number : 127 Question Id : 3426041407 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following mdicates a plot of compressibility factor (Z) Vs P at room
temperature for helm

{./.,.:/‘:ﬂ"”‘g- f.@&/‘{.t'l?. P,(Z)'/Ziw/;{fl}wfufpt}g;#

Options :






[

—_—

Question Number : 128 Question Id : 3426041408 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

At300K the average velocity of a gas is 3 x 10° em/sec. The average velocity (in cm/sec)
of it at 1200 K 1s

</ 1200K (d(:lll.fsec);[i;bfslf e 3 1’ c11visec;ﬁ"'ml¢_,fu’ba h."ff/,:j’()(l K
Options :

6 x 10°

1.+

4 x 107
2. %

8 x 10°



1x10°

Question Number : 129 Question Id : 3426041409 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
56 g of Ca0 has been mixed with 63 g of HNO;, the amount of Ca(NO;); formed 1s

1 §CaNO)p o4 11 L 063 gL HINOs 56 8£.Ca0

Options :

4g
1. %

828 ¢
2. %

164 g
3. %

82 g
4.

Question Number : 130 Question Id : 3426041410 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In Pbs0O;4. the different oxidation states of Pb is/are

] et £ o 2T 2 ZPb Ut Pbs0,

Options :
2.66 only
2.66 A
2 only
2.3/

2. %

2 and 4 only

284 57
3. ¢
2.4and 1
2.4 il
4. %

Question Number : 131 Question Id : 3426041411 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following options are correct?

?w#’ﬂd‘_l(a.-u:&bglz&_‘-)wdj

Options A H® AS°

&'J*L;Ef

A s ¢

B + +

C _ _

D -
Options :

A, B, C only

AB €7
1. %
B only
BdA
2. %

B. C only
B, C .3

3.¢

A,G° Spontaneity of the reaction

SA2s7 d/ Jf 3

+  Spontaneous at low T
Y, LTl

—  Spontaneous at high T

wi;{, Tk

—  Spontaneous at low T
sy T s

+  Spontaneous at high T

uu?:;; Tk



C, D only
C.D

4. %

Question Number : 132 Question Id : 3426041412 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For the formation of NH, (g) from H, and Ny, which one of the following graphs represents

the yield of ammonia at equilibrium?

(Assume T1<T», unless mentioned)

%Jr,&f.é.:?;f{.wyﬁfUfUU[LJd:'.;JP@LL& NH, (g) & NossiH;
(ﬂyib(_:uyjﬁ.»?le‘*iTzu:/ ej/; )

Options :

vield of NH,

1.4



! T,
:._'E
o
|
P =
g T=T;
z
e
-
P —
3. %
>
i T,
L]
=,

4. %

Question Number : 133 Question Id : 3426041413 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



For the formation of NHz (g) from its constituent elements, the favourable conditions for
1ts formation are

B E okl Lt pis1 £ ()
Options :

High pressure and low temperature

:.affu.':.-:’_.;ﬂi@:xi:

1. %

High pressure and high temperature

=N 7 ik i3l s
2. % '
Low pressure and high temperature
&JIFA;;fig:w;’:
3. %
Low pressure and low temperature
= 7 el s
4. ®

Question Number : 134 Question Id : 3426041414 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The ratio of the viscosity (in centipoise) of D;0 to that of H,O at 25°C 1s

&4 25 CYH0,DIO(EAS Dbt

Options :

1

11

1.24

0.9

Question Number : 135 Question Id : 3426041415 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The correct statements are

Jelhess
(I) ~ The low solubility of LiF 1s due to 1ts high lattice enthalpy

{.L,.y}ﬁdj WJMEI&L{ Lf;JLiF
(I LiBr s not soluble m acetone
b ff K LuriLib
(I LiCl1s soluble m pyridine

bl ffbALiC]
(IV)  The order of melting points of alkali metal halides 1s MF > MCl > MBr > MI
& 420 ME> MCLMBr > MISUP LE £l 9

Options :
(I). (IT) and (III)
(I), (IT) .»f (III)

1. %

(II), (IIT) and (IV)
(IT), (TIT) 2sf (IV)

2. %

(I). (IT) and (IV)
(I), (IT) .t (IV)

(I), (IIT) and (IV)
(I). (III) 48 (IV)

4.+



Question Number : 136 Question Id : 3426041416 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Amphoteric hydroxide from the following is
j o - -
e KLl L?JJJLU:U'F:J.-?JA?

Options :

AI(OH);

1.4

In(OH)s
B(OH);

TI(OH)s

Question Number : 137 Question Id : 3426041417 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Among the following options the element with the highest density and lowest boling pomt
1$

‘:‘.i.':*;,';_f:? ,bﬁ;;l,c&;)ﬁuw /‘i e\ &ljﬁluti,gw



Options :

. &

1. W
Sn

2. %
Pb

3. ¢
Ge

4. ®

Question Number : 138 Question Id : 3426041418 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The reagent used in the determmation of the chemical oxygen demand (COD) of water
sample is

,;_;;ifg;u:,LﬂJv#ugzwf J(COD)EL;,}W Jﬂ L,;M&g
Options :

Potassium permanganate



Sulphuric acid

g S
2. 3
Acidified Potassium dichromate
i & - b
..".{3/( B by iy a
3. ’
Potassium dichromate
7, 2
WV A r‘:[f;j
4, %

Question Number : 139 Question Id : 3426041419 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the carbanions is the least stable?

te S0t ad” U e Ut s 20

Options:
=y
CH,-NO,
1. %
©
CH,-CHO



CH.~1.
3. ¥
©
CH,
4, %

Question Number : 140 Question Id : 3426041420 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of 7 - bonds and lone pair(s) present in the major benzenoid product, which
formed when benzene 15 reacted with acetyl chloride 1n the presence of anhydrous
aluminium chloride; respectively are

-
*

Cotiighanle S i it S LSRRG M B -1

et bbb ik S

Options :

5;2
1. %

4:2
2.9

5:4
3. % '



6: 4

Question Number : 141 Question Id : 3426041421 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For a molecular formula of CeHig of an alkyne series, the mumber of possible branched
1S0mers 15

A L Ly AL CHul 7 oL

Options :

2
1. #

3
2. %

4
3.¢

5
4. %

Question Number : 142 Question Id : 3426041422 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following is correct in the crystal lattice given below?

?LJJJ’U{_,PIZ;’:.hf_:..{“_.u':ffﬂu}rﬂ.-u:d}.,.}ip

Options :

a
Nearest neighbour distance in NaCl = —

D

% =c Lol s% " UENaCl

1. %
3
Total volume of a unit cell in CCP = (r\/z )
(rv2) =tCCPEE b6
2. %
Packing fraction of BCC 1s more than that of a FCC unit cell
L LMFCC i e font EKBCC
3. %
Nearest neighbour distance i CsCl= a g
a£ = L5 § ) UACsCI
4. 2

Question Number : 143 Question Id : 3426041423 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Calculate the molal depression constant of a solution, which freezes at 15°C. The latent

heat of fusion is 180.7 Jg~
1807 g™ e pefifi-c b £15 Ca AN I L

Options:

3.81 K molal

1.+

0.381 K molal ™

2. %
1.90 K molal ™
3. %
0.19 K molal
4, %

Question Number : 144 Question Id : 3426041424 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



pH of a 0.IM monobasic acid 15 2. Its osmotic pressure at a given temperature T(K) 15
(Given that the effective concentration for osmotic pressure 15 (1+ ) x concentration of
acid; o 1s the dissoctation factor)

ey PTR)E s Lo 2 g L0 M)

L

ff’fa L;&thl/ 5JUWJ. f.sl. .ft’slf L
Options :

RT

0.11RT

0.01RT

0.001RT

Question Number : 145 Question Id : 3426041425 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



For the cell reaction Cu/Cu”"(0.1M) || Cu**(1.0M)/Cu; the emf of the cell at 25 °C is
[E. s 0.34\/}

cem¥ 525 CUCH (.M | Qo (LOMYCuS 5L
[E-Cm = 0.34\@

Options :

0.059V

0311V

2. %

0369V

0.029 V

Question Number : 146 Question Id : 3426041426 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



For a hypothetical reaction A —C

A »>CH S 5640

A % B[Fast] [ 7]

2

A+B—5 C(Slow) (==1)
Rate law for this reaction is

U 8PS

Options :

[A][B]

) oC [AF
 «[AP[ef
«[A] [B]

Question Number : 147 Question Id : 3426041427 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

The shape of 1sobar for physical adsorption and adsorption isobar for chemisorption,

respectively, are

S AP -"-.»l}il;pfi.{iﬁﬁlzf WA LANNLAA

Options :
| |
n o U
m m
1— I'—
1. %
| |
- P R
m m
T— T—
2. %
] I
X X
m il
T— T —
3. %

4.+



¢ —

I
aid o~ /_\

—
[—
—
(=
—
—

Question Number : 148 Question Id : 3426041428 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

False statement about white phosphorous is
sl L i b
Options :

It 1s highly soluble in carbon disulphide

e & el Jn,

1. %
The angle /PPP in P4 molecule 1s 60°
< 60" 4316 #PaJt LPPP
2. %

White Ps molecules contains four P-P covalent bonds

e B 2ksd PPilo S pPasi

3.¥



White phosphorous 1s the most reactive allotrope of phosphorous

<. b ad f;}j!,gi Lf;aJ.L‘}s:....‘.MKJ ol

Question Number : 149 Question Id : 3426041429 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The electronegativity order of the following elements 1s

?—LSJ:":..?JJL;J;: L,EM H:/"’L'fdj,.?,fﬂ
Options :

N>S>Te>1

1. %
I>N>S>Te
2. ®
N>I>S>Te
3. ¥
N>S>1>Te
4. %

Question Number : 150 Question Id : 3426041430 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Match the following

Sriakde g

List-I List -1I
oy -
Element Property
Vead =l
A) He I)  canbe used as inert atmosphere
P NI AP B
B) Ar II) Radioactive element
A
C) Xe IITI) Form fluoride compounds
f_[:'[hq( L

D) Rn IV) can be used as airship balloons

PRI YNSRI
The correct match is

EITACW)
Options:
A B C D
IV III II I
1. %
A B S D
IV | I IT

2.



I I1 I11 IAY
3. %

A B B D

11 I IV I11
4, %

Question Number : 151 Question Id : 3426041431 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of unpaired electrons in Co™ . is

?Jlﬁu(ug.,{jﬁé.uf Co**

Options :

2
1. %

3
2. ¢

4
3. %

5
4, %

Question Number : 152 Question Id : 3426041432 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Wilkinson catalyst 1s

ifl
Y et
Options :
| (PPh, ), RhC, |
1. #

| (PPh, ), RhCl |

2. %

| (PPh;)RhCI, |
3. %

| (PPh,), RhCl |
4. %

Question Number : 153 Question Id : 3426041433 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A): Adenine and guanine are present in RNA as purine bases.
wﬂ-wfu;uzf_ﬂfrw RNAJL‘:M‘JL;_;; l (A)SS s
Reason(R) : The base uracil 1s present in RNA.
ek RNA-.:.‘-&!E’H?}" “%Ijsl (R).2s

The correct option among the following 1s

e MJJJJ_. 304
Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)

2 (W) cblosers®ref ®Rreb ()

1. %
(A) 15 true, (R) 1s true but (R) 1s not the correct explanation for (A)
@J(A).f_uj #LPL-:’JMJJ(R)JJf{_.g (R)u:_g (A)
2.
(A) 1s true but (R) 1s false
e ®RFE ()
3. %
(A) 1s false but (R) 1s true
& R)F < sk(A)
4, %

Question Number : 154 Question Id : 3426041434 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following

L g

List-I

| O

Reaction

J! )J

A

) CH,CH=CH, ——>H[
Br2
CHCH,—~

oy

C) HBr

@/ CH=CH,—

The correct match 1s
{_ﬁﬁ o))

Options:

A B £
II I I\Y

List -II
o -1l
Major product

Sl
D) 1-Bromo-2- phenylethane

-2 vl

II) 1-Iodopropane
faphl-1

III) 2-Iodopropane
Sragshl-2

IV) 1-Bromo-1- phenylethane

JflLﬁlf‘ul



I IV 1Y
2.
A B C
I | I
3., %
A B C
II 1Y |
4. %

Question Number : 155 Question Id : 3426041435 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The product (R) in the following synthetic scheme 1s

RIS bl L g i § 5 S5 0su

B

1) HNO,, conc. H,SO, (P) + (Q)

(Major) (Minor)

ii) NaOH, 443 K

20—
(Major) 1) HY

(R)

Options :



NO,
2. ¢

OH

p1g

NO,

Cl
OH

<

NO,

[}

Question Number : 156 Question Id : 3426041436 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The major product of the following reaction 1s

%.Jibtif{b/fjidi,yﬂ

HI (1 equiv)
H .

HC C
0

3

0°¢C

Options :
HC_ _CH,
I
OH
1.4
CH,
<0
2. %
I,
CH,
I
3. %
H.C CH

3 3
OH
I

4. %



Question Number : 157 Question Id : 3426041437 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the major product (P) in the given reaction
S5 @)Fe it S L s

(i) dil. NaOH

CH,CH,CHO —=
i (1) A

>(P)
In the above reaction “P” 1s
s
,f_.“P”u:Jibid_;,pl

Options :

H,C-CH,-CH=CH-CH, -CHO

1. %
(li)H
H,C —CH, —-CH-CH, —CH, —CHO

2. %

CH,

>Cl—l—CH:CH— CHO

CH.’:

3.



CH,— CH,— CH=— C —CHO

CH,

Question Number : 158 Question Id : 3426041438 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the following

JtizbulbesE

List-I List -II
[-erff I-e
A) Tollens reagent I)  Pararosaniline + SO;
%U}JJ J SO; -l-g;j U_;’.Lr’ﬂljg
B)  Schiff’s reagent II) Rochelle salt + aq. NaOH
B NaOH T+l

C) Rosenmund reduction III) Ammonical silver nitrate

wffé,xi?w’,u ey /‘L'JL'JJLJ J: o
D) Fehlg solution ‘B> IV) Pd+BaSO;

B b
The correct match 1s

) ]
& iner))
k



Options :

A B & D

II1 I 1Y II
1.

A B C D

II III I IV
2. %

A B B D
- I II IV II

A B ¢, D

II IV III I
4. %

Question Number : 159 Question Id : 3426041439 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(1)Cl,/Red Phosphorus

R-CH,-COOH—
: (i1)H,0

>R -CH-COOH
Cl

The above reaction 1s known as
bl S 18 o

Options :

1. %



Friedel — Crafts reaction

fﬁ;uﬁf)i‘)fl/'

Kolbe — Schimidt reaction

S st 6S

2. %
Hell — Volhard — Zelinsky reaction
g flv 5.8 “ |
G = -
3. ¥
Cannizzaro reaction
J" 300 26
4, %

Question Number : 160 Question Id : 3426041440 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The reaction between acetic acid and ammonia gives
-
:‘;.L") :.‘?/Jj:wy;:‘i::rmf.fl; WI

Options :

CH3CONH:;



CH3CONHCH;

CH;CN

CH3COONH4
4.



